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1. This question paper contains total eight questions.
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Attempt any five questions including compulsory question No. 1.
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Each question carries equal marks. Marks are divided and indicated against each part of

the question. Write answer in legible handwriting. Each part of the question must be
answered in sequence and in the same continuation.
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Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
question shall be counted even if attempted partly. Any page or portion of the page left
blank in answer book must be clearly struck off.
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Re-evaluation / Re-checking of answer book is not allowed.
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The State, according to Dr.Garner is ‘neither the handiwork of God, nor the result of

superior physical force, nor the creation of resolution or convention, nor a mere

expansion of the family. The State is not a mere artificial mechanical creation but an

institution or natural growth of historical evolution’.

In the light of the above statement discuss the evolutionary theory of the origin of State.
(20)
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. What is Sovereignty? Discuss Austin’s theory of Sovereignty and the arguments
advanced against it by the pluralistic theory. (20)
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. Rawls’ theory of justice is both contractual and distributive. Discuss. (20)
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. According to Gramsci, ‘Hegemony is primarily based on the organization of consent’.
Examine. (20)
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. Examine the view that the British rule brought about economic changes in India to serve
the needs of the imperial economy and led to the underdevelopment of the country. (20)
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. What is meant by 'un-British' rule in India? How did the Indian nationalists react against
it? Evaluate the role of Dadabhai Nauroji in exposing the evils of British rule in India.
(20)
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. Bureaucracy is an instrument of socio-economic development. In the light of this
statement discuss the role of Indian bureaucracy. (20)
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. Developmental issues have overshadowed the influence of caste in electoral behavior in
recent elections. Discuss. (20)
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